Final Exam; Finance 4360; Fall 2006; December 8th



Name __________________________________

Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel short-cut is “Used to open the page setup box”?
Short answer questions/problems

Note:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  Assume that a firm without excess cash decides to issue $100,000 of additional shares so that it can pay an additional dividend of $100,000 to its stockholders.  Assume also that the tax rate on ordinary income is 20%, on capital gains is 14%, and on dividends is 18%.  What is the net loss or gain realized by the firm’s stockholders if the firm goes ahead with its plan?
2.  List the two tax advantages that a firm has over an individual when receiving dividends.
3.  List (but do not discuss), the 3 basic advantages of repurchasing shares with transferable put rights rather than through a tender offer.
Use the following information to answer short-answer questions 4 and 5.

Assume that Troll Brothers Bridge Builders Inc. has announced that it intends to buy back 100,000 if its 2,000,000 outstanding shares.  Assume also that stockholders offer to sell back 500,000 shares.  Assume that Bert owns 200,000 shares and acts in his own best interest when deciding how many shares he offers to sell back to Troll.  Finally, assume that the repurchase price is $60 per share, that the current market price is $50 per share, and that shares will fall to $49.50 per share after the repurchase.  Assume there are no taxes.

4.  If Troll repurchases shares through a tender offer, how many shares will Bert be able to sell back to the firm?
5.  Assume that Troll repurchases the shares by using transferable put rights rather than through a tender offer.  What will be the value of each put if Troll issues one transferable put right per outstanding share?
Problems/Essays

1. Your boss has asked you to evaluate whether or not a new project available to the firm is worthwhile.  After several days of collecting and analyzing information about the project, you take your recommendation and analysis to your boss.  But since your boss is about to leave for a meeting in New York, he asks you to simply tell him your conclusion.  You reply “Since the project is risk free for the firm, I recommend that we proceed since the net present value is $695,000.”  Your boss replies “I said the project is riskEEEE not risk free.  Have your new analysis ready when I return”.  

a.  What parts of your analysis will you have to redo and what parts will you not have to redo?  Explain.  
b.  What additional information will you need to gather and where would you get this information?  Explain.
c.  How would you expect your conclusions to change when you redo your analysis?  Explain.
2.  Assume that the top priority of the Democrats when they come to power in January is to reduce the federal deficit.  As a result, they double both corporate and personal tax rates.  If these changes are perceived as being permanent, how would you expect firms to change their capital structure and dividend payments?  Justify your answers.  (Note:  Assume that with a simple doubling of all tax rates, the effective tax rate on dividends remains lower than on interest income and that the effective tax rate on capital gains remains lower than on dividends).
3.  What types of analysis would help you figure out whether a firm has too much debt in its capital structure and what information would you need to undertake this analysis?
4.  Use the following information to answer questions a through d below.
Year
Sanderson
Blockbuster
2006
-21%
40%

2005
-3%
-56%

2004
66%
-18%

2003
75%
-21%

2002
30%
-17%

a.  What was the average return on Sanderson Farms and on Blockbuster?

b.  What was the standard deviation of returns on Sanderson Farms and on Blockbuster?

c.  What was the covariance of returns between Sanderson Farms and Blockbuster?

d.  What was the  correlation of returns between Sanderson Farms and Blockbuster?

Use the following information in answering questions 5 and 6 below

Yellow Pencil Inc. is considering building a new factory to produce pencils that can be used to surf the web when not being used to write.  The factory will cost $950,000 to build (all payable today) and would be expected to generate its first monthly cash flow of $20,000 five months from today.  After this initial cash flow, net cash flows are expected to increase by 0.1% per month through the final cash flow 5 years from today.  Because the pencil’s web browser always starts at the Yellow’s search page, Yellow expects that producing the pencils will generate additional net cash flows from selling ads of $10,000 each quarter beginning ten months from today and continuing through 3 years and 10 months from today.  The new factory is slightly riskier than Yellow’s existing assets with a beta for the new factory of 1.2 compared to the beta of existing assets of 1.1.  If sales of the web-ready pencils fall short of expectations, the factory can be sold for $400,000 any time over the next 3 years.  The standard deviation of returns on the factory is 25% over the next 5 years, 28% over the next 3 years, and 26% over the next 3 years and 10 months.  This compares to the standard deviation of returns on Yellow’s existing assets of 21% over the next 5 years, 24% over the next 3 years, and 22% over the next 3 years and 10 months.  

Assume that the market risk premium is 7.5% and that the rates on Treasuries (all APRs with continuous compounding) depend on maturity as follows:  1-month = 4.96%, 1-year = 4.76%; 3 years = 4.44%; 3 years- 10 months = 4.36%; 5 years = 4.32%
5.  What would be the value of the project if it were not possible to sell the factory if sales fall short of expectations?
6.  What is the value of the project including the possibility of selling the factory if sales fall short of expectations?
7.  Assume that Yuck Brands Inc. has traditionally granted bonuses to its managers based on corporate and divisional accounting earnings.  However, Yuck’s CEO has just announced that this bonus system will be replaced starting next year with a bonus system based on corporate and divisional Economic Value Added (EVA).  At the same time, Yuck’s CEO has mentioned that this afternoon he will be announcing a number of changes to the firm’s previous plans.  What kinds of changes would you expect Yuck to announce this afternoon because of the new bonus system?  Be sure to discuss why you think these changes would stem from the new bonus system.
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